

THE KARCHER MEAN OF EQUILATERAL TRIANGLES

EDUARDO GHIGLIONI AND YONGDO LIM

ABSTRACT. In this paper we present a class of Riemannian equilateral triangles ΔABC of the Cartan-Hadamard Riemannian manifold of $N \times N$ positive definite matrices of determinant 1 whose Karcher mean of vertices is of the form

$$\Lambda(A, B, C) = \frac{A + B + C}{\sqrt[3]{\det(A + B + C)}}.$$

The obtained class of triples (A, B, C) forms an analytic manifold with an analytic parameterization over $\mathrm{SL}(N, \mathbb{C})^\pm \times \mathbb{R}$. The determinantal identity $\det(A + B + C) = \det(A^{-1} + B^{-1} + C^{-1})$ and an extended arithmetic-Karcher-harmonic mean inequalities is derived for such triples.

2010 Mathematics Subject Classification. 15A18, 15A42, 15B48, 47A64, 53C20.

Key words and phrases. Positive definite matrix, Riemannian trace metric, Karcher mean, equilateral triangle, C-S factorization, tensor product

1. INTRODUCTION

Let \mathbb{P}_N be the space of $N \times N$ positive definite Hermitian matrices equipped with the Riemannian metric $\delta(A, B) = \|\log A^{-1}B\|_2$, where $\|X\|_2 := \sqrt{\mathrm{tr} X^2}$ for Hermitian matrices X . The Karcher mean (alternatively, Riemannian mean or Cartan mean) on \mathbb{P}_N is uniquely defined by

$$\Lambda(A_1, \dots, A_n) := \arg \min_{X \in \mathbb{P}_N} \sum_{k=1}^n \delta^2(X, A_k)$$

and is characterized by being the unique positive definite solution of the Karcher equation $\sum_{j=1}^n \log(X^{-1/2}A_jX^{-1/2}) = 0$. It is well known that $\Lambda(A, B) = A \# B := A^{1/2}(A^{-1/2}BA^{-1/2})^{1/2}A^{1/2}$, the geometric mean of A and B , and is the unique mid-point between A and B for the Riemannian metric δ . See [2, 20, 12, 13] for basic

properties of the Karcher mean including the Ando-Li-Mathias ten axioms for matrix geometric means. By joint homogeneity, we can restrict our concern to positive definite matrices of determinant 1.

Let $\mathbf{H}_N \subset \mathbb{P}_N$ be the geodesic submanifold of positive definite matrices of determinant 1. For the 2×2 setting, \mathbf{H}_2 is a model of hyperbolic geometry and the Karcher mean of triples in \mathbf{H}_2^3 has recently been intensely investigated [5, 6, 8, 9, 14, 15]. For $A, B \in \mathbf{H}_2$, the Karcher mean $A \# B = \Lambda(A, B)$ has the following linear form [2, 4]

$$(1.1) \quad \Lambda(A, B) = \frac{A + B}{\sqrt{\det(A + B)}}.$$

Surprisingly this linear representation arises for Riemannian equilateral triangles [8]: the triangle ΔABC in \mathbf{H}_2 is equilateral if and only if

$$(1.2) \quad \Lambda(A, B, C) = \frac{A + B + C}{\sqrt{\det(A + B + C)}}.$$

Linear independency of the vertices of equilateral triangles and non-collinearity in \mathbf{H}_2 play key roles in the proof: see Remark 2.2 for details. The linear formula (1.2) was first obtained by Bhatia and Jain for the family of exponentials of Pauli matrices [5]. It turns out [15] that the three medians of a triangle ΔABC in \mathbf{H}_2 always meet at the right hand side of (1.2), called the center of mass or centroid of the triangle, from which two notions of the centroid in the hyperbolic geometry and the Karcher mean agree *only* for equilateral triangles. Applying to the equilateral triangle $\Delta A^{-1}B^{-1}C^{-1}$, where inversion acts as an isometry on \mathbf{H}_2 , together with the determinantal identity $\det(A + B + C) = \det(A^{-1} + B^{-1} + C^{-1})$ on \mathbf{H}_2 , leads to the following special form of the arithmetic-Karcher-harmonic mean inequalities for the equilateral triangle ΔABC :

$$\mathcal{H}(A, B, C) = \frac{\mathcal{A}(A, B, C)}{\det \mathcal{A}(A, B, C)} \leq \Lambda(A, B, C) = \frac{\mathcal{A}(A, B, C)}{\sqrt{\det \mathcal{A}(A, B, C)}} \leq \mathcal{A}(A, B, C),$$

where \mathcal{A} and \mathcal{H} are the arithmetic and harmonic means respectively [15]. In particular, the harmonic mean is a *scalar multiple* of the arithmetic mean.

For general $N \geq 3$, one may wonder whether the Karcher mean of the vertices of an equilateral triangle in \mathbf{H}_N is of the form

$$(1.3) \quad \Lambda(A, B, C) = \frac{A + B + C}{\sqrt[N]{\det(A + B + C)}},$$

which is equivalent to $\Lambda(A, B, C) = \alpha(A + B + C)$ for some $\alpha > 0$ due to the determinantal identity of the Karcher mean. However this fails for general $N \geq 3$, see Example 3.9. Alternatively this raises the classification problem of equilateral triangles in \mathbf{H}_N having the Karcher mean formula (1.3). From the result on 2×2 matrices and the self-duality of the Karcher mean, $\Lambda(A, B, C)^{-1} = \Lambda(A^{-1}, B^{-1}, C^{-1})$, it is natural to consider the class \mathcal{K}_N of equilateral triangles ΔABC in \mathbf{H}_N such that both (A, B, C) and (A^{-1}, B^{-1}, C^{-1}) satisfy (1.3). This set is invariant under inversion, $(A, B, C) \mapsto (A^{-1}, B^{-1}, C^{-1})$.

In this paper we consider the special class \mathcal{E}_N of triples $(A, B, C) \in \mathbf{H}_N^3$ such that

$$\sigma(A^{-1}B) = \sigma(A^{-1}C) = \sigma(B^{-1}C) = \{\lambda, \lambda^{-1}\}$$

for some $\lambda > 1$, where $\sigma(X)$ denotes the spectrum of X . It is shown that $\mathcal{E}_N \neq \emptyset$ if and only if N is an even number, and that A, B, C are not collinear and linearly independent for every $(A, B, C) \in \mathcal{E}_N$. Obviously \mathcal{E}_N is invariant under inversion. The sets \mathcal{E}_N and \mathcal{K}_N are invariant under the action of the Lie group $\mathrm{SL}(N, \mathbb{C})^\pm = \det^{-1}(\{\pm 1\})$ via the congruence transformations:

$$M.(A, B, C) := (MAM^*, MBM^*, MCM^*).$$

It is shown that \mathcal{E}_N forms an analytic manifold via an analytic parameterization over $\mathrm{SL}(N, \mathbb{C})^\pm \times (1, \infty)$.

The main result of this paper is the following.

Theorem 1.1. *For every even integer N , $\mathcal{E}_N \subset \mathcal{K}_N$ and \mathcal{E}_N is diffeomorphic to $(\mathrm{SL}(N, \mathbb{C})^\pm / I_2 \otimes \mathbb{U}_{\frac{N}{2}}) \times (1, \infty)$, where \mathbb{U}_k denotes the Lie group of $k \times k$ unitary matrices and \otimes denotes the tensor product operation.*

In Section 4, we establish the determinantal identity $\det(A + B + C) = \det(A^{-1} + B^{-1} + C^{-1})$ on \mathcal{E}_N and obtain a one parameter monotonic family

$$\frac{\frac{1}{3}(A + B + C)}{\sqrt[p]{\det\left(\frac{1}{3}(A + B + C)\right)}}, \quad 0 < p \leq \infty$$

interpolating the harmonic mean at $p = \frac{N}{2}$, the Karcher mean at $p = N$, and the arithmetic mean at $p = \infty$. In Section 5, we introduce a method of constructing triples in \mathbf{H}_N having the Karcher mean formula (1.3) via positive linear maps.

2. INVARIANT SETS OF EQUILATERAL TRIANGLES

Let $A, B, C \in \mathbf{H}_2$. The spectrum of $A^{-1}B$ is $\{\lambda, \lambda^{-1}\}$ for some $\lambda \geq 1$, because $\det(A^{-1}B) = 1$, and the Riemannian distance between A and B is $\delta(A, B) = \sqrt{2} \log \lambda$. Then $\delta(A, B) = \delta(A, C) = \delta(B, C)$ if and only if

$$(2.4) \quad \sigma(A^{-1}B) = \sigma(A^{-1}C) = \sigma(B^{-1}C) = \{\lambda, \lambda^{-1}\}$$

for some $\lambda > 1$. This implies that the set \mathcal{E}_2 coincides with the set of all equilateral triangles in \mathbf{H}_2 . In terms of the trace functional, $\delta(A, B) = \delta(A, C)$ if and only if $\text{tr}(AB^{-1}) = \text{tr}(AC^{-1})$. We recall the main theorem of [8].

Theorem 2.1. *Let $A, B, C \in \mathbf{H}_2$.*

- (1) *(2.4) implies (1.3). The converse holds if A, B, C are linearly independent.*
- (2) *If A, B, C are linearly dependent, then (1.3) holds true if and only if one of A, B, C is the geometric mean of the other two.*

Remark 2.2. [Riemannian equilateral triangles and linear independency] Note that the unique (up to parametrization) Riemannian geodesic between A and B is of the form $t \mapsto A \#_t B := A^{1/2}(A^{-1/2}BA^{-1/2})^t A^{1/2}$ and the vertices of a Riemannian triangle in \mathbf{H}_N (by definition) are not collinear in the sense of Riemannian sense. Then the theorem in above actually classifies triangles in \mathbf{H}_2 having the Karcher mean formula (1.3) on vertices: *a triangle ΔABC in \mathbf{H}_2 is equilateral if and only if the Karcher mean $\Lambda(A, B, C)$ satisfies (1.3).* See also [15] via an approach of hyperbolic geometry. In particular, the vertices of an Riemannian equilateral triangle in \mathbf{H}_2 are *linearly independent* in the Euclidean space of 2×2 Hermitian matrices. It is clearly of interest in matrix analysis and geometry to see whether the linear independency of vertices of Riemannian equilateral triangles in \mathbf{H}_N holds for general $N \geq 3$. We leave this problem to the interested reader.

Recall that

$$\mathcal{E}_N = \{(A, B, C) \in \mathbf{H}_N^3 : \sigma(A^{-1}B) = \sigma(A^{-1}C) = \sigma(B^{-1}C) = \{\lambda, \lambda^{-1}\}, \lambda > 1\}.$$

Remark 2.3. For $A, B, C \in \mathbb{P}_N$, $\left(\frac{A}{\sqrt[N]{\det(A)}}, \frac{B}{\sqrt[N]{\det(B)}}, \frac{C}{\sqrt[N]{\det(C)}} \right) \in \mathcal{E}_N$ if and only if

$$\begin{aligned}\sigma(A^{-1}B) &= \sqrt[N]{\det(AB^{-1})} \{ \lambda, \lambda^{-1} \}, \\ \sigma(A^{-1}C) &= \sqrt[N]{\det(AC^{-1})} \{ \lambda, \lambda^{-1} \}, \\ \sigma(B^{-1}C) &= \sqrt[N]{\det(BC^{-1})} \{ \lambda, \lambda^{-1} \},\end{aligned}$$

for some $\lambda > 1$.

Let $A, B \in \mathbf{H}_N$ such that $\sigma(A^{-1}B) = \{ \lambda, \lambda^{-1} \}$, $\lambda > 1$. Since $\det(A^{-1}B) = 1$, the multiplicity of λ is equal to that of λ^{-1} . This implies that N is even number and the positive definite matrix $A^{-1/2}BA^{-1/2} \in \mathbf{H}_N$ is unitary similar to the diagonal matrix

$$(2.5) \quad D_N(\lambda) := \begin{bmatrix} \lambda I_{\frac{N}{2}} & 0 \\ 0 & \lambda^{-1} I_{\frac{N}{2}} \end{bmatrix} = \begin{bmatrix} \lambda & 0 \\ 0 & \lambda^{-1} \end{bmatrix} \otimes I_{\frac{N}{2}}.$$

It turns out in [19] that for $A, B \in \mathbf{H}_N$, $\sigma(A^{-1}B) = \{ \lambda, \lambda^{-1} \}$ for some $\lambda \geq 1$ if and only if

$$(2.6) \quad A \# B = \frac{A + B}{\sqrt[N]{\det(A + B)}}.$$

From this together with the case of 2×2 , we expect the Karcher mean formula (1.3) for $(A, B, C) \in \mathcal{E}_N$.

Remark 2.4. The set of pairs (A, B) such that $\sigma(A^{-1}B) = \{ \lambda, \lambda^{-1} \}$ has recently appeared in the study of Finsler structures on \mathbb{P}_N or positive cones of C^* algebras equipped with the Thompson metric $d(A, B) = \|\log A^{-1}B\|$. For such a pair (A, B) , the curve $t \mapsto A \#_t B = A^{1/2}(A^{-1/2}BA^{-1/2})^t A^{1/2}$ is a *unique* minimal geodesic between A and B for the Thompson metric $d_T(A, B) = \|\log AB^{-1}\|$. See [18, 16, 17].

We list some basic properties of \mathcal{E}_N .

Proposition 2.5. *We have that $\mathcal{E}_N \neq \emptyset$ if and only if N is even. For $(A, B, C) \in \mathcal{E}_N$,*

- (1) $\det(A + B) = \det(A + C) = \det(B + C)$.
- (2) $A \# B = a(A + B)$, $A \# C = a(A + C)$, $B \# C = a(B + C)$, where $a = \frac{\sqrt{\lambda}}{1+\lambda}$ and $\lambda > 1$ is an eigenvalue of $A^{-1}B$.
- (3) A, B, C are not collinear in the sense of Riemannian. In particular, ΔABC is equilateral.

- (4) A, B, C are linearly independent.
- (5) $(A^{-1}, B^{-1}, C^{-1}) \in \mathcal{E}_N$.
- (6) $M.(A, B, C) \in \mathcal{E}_N$ for every $M \in \mathrm{SL}^\pm(N, \mathbb{C})$.

Proof. Let $N = 2k$ and let

$$D = \mathrm{diag}(2, 1/2) \otimes I_k, \quad W = \begin{bmatrix} \frac{5}{3} & -\frac{1}{3}\sqrt{\frac{7}{2}} \\ -\frac{1}{3}\sqrt{\frac{7}{2}} & \frac{5}{6} \end{bmatrix} \otimes I_k.$$

Then $\sigma(D) = \sigma(W) = \sigma(DW^{-1}) = \{2, 1/2\}$ and hence $(I, D, W) \in \mathcal{E}_N$. Indeed, the eigenvalues of

$$\begin{bmatrix} a & b \\ b & c \end{bmatrix} \otimes I_k, \quad b \in \mathbb{R}$$

are $\frac{1}{2} \left(a + c \pm \sqrt{(a - c)^2 + 4b^2} \right)$. See Lemma 3.1 for general case. This shows that $\mathcal{E}_N \neq \emptyset$. (1) is straightforward. (2) follows from (2.6). (3) Suppose that A, B, C are collinear. We may assume that $A = B \#_t C$ for some $0 < t < 1$. Then $t\delta(B, C) = \delta(B \#_t C, C) = \delta(A, C) = \delta(B, C)$, which is impossible from $B \neq C$. (4) Suppose that $C = aA + bB$ for some $a, b \in \mathbb{R}$. Then $ab \neq 0$, since any two of A, B, C are linearly independent. If $a, b < 0$, then $-C$ is positive definite, which is impossible. Hence we have either $a, b > 0$ or $ab < 0$. Without loss generality, we may assume that $a, b > 0$. Indeed if $a < 0$, then $B = b^{-1}C + (-ab^{-1})A$ and hence we can replace C with B . Pick a unitary matrix U so that $UC^{-1/2}AC^{-1/2}U^* = D := D_N(\lambda)$, $\lambda > 1$. It then follows from $I = aC^{-1/2}AC^{-1/2} + bC^{-1/2}BC^{-1/2}$ that $I = aD + bUC^{-1/2}BC^{-1/2}U^*$. That is, $(1/b)(I - aD) = UC^{-1/2}BC^{-1/2}U^*$. Comparing eigenvalues of $(1/b)(I - aD)$ and $U^*C^{-1/2}BC^{-1/2}U$, which has the eigenvalues λ and λ^{-1} by assumption, leads to

$$(1/b)(1 - a\lambda) = \lambda, \quad (1/b)(1 - a\lambda^{-1}) = \lambda^{-1}$$

or

$$(1/b)(1 - a\lambda) = \lambda^{-1}, \quad (1/b)(1 - a\lambda^{-1}) = \lambda.$$

The first case leads to $1 = (a + b)\lambda = (a + b)\lambda^{-1}$ from which $\lambda = \lambda^{-1}$, since $a + b \neq 0$. This is impossible due to $\lambda \neq 1$. The second case leads to $a = b$ from $\lambda \neq 1$ and hence

$C = a(A + B)$. Taking determinant yields $a = \frac{1}{\sqrt[N]{\det(A+B)}}$ and hence by (2.6)

$$C = \frac{A + B}{\sqrt[N]{\det(A + B)}} = A \# B.$$

By (4), this contradicts to (3). (5) and (6) are straightforward. \square

Remark 2.6. It is shown in [14] that the set of linearly independent triples in \mathbf{H}_2 is closed under inversion; $\{A, B, C\} \subset \mathbf{H}_2$ is linearly independent if and only if $\{A^{-1}, B^{-1}, C^{-1}\}$ also is. This fails for general $N \geq 3$. For example, $A = I_3, B = \text{diag}(2, 1, \frac{1}{2}), C = \text{diag}(\frac{2}{3+2\sqrt{2}}, \frac{1}{2}, 3+2\sqrt{2})$.

Recall the set $\mathcal{K}_N \subset \mathbf{H}_N^3$ from Introduction.

Definition 2.7. Denoted by $\mathcal{K}_N^\dagger \subset \mathcal{K}_N$ the set of triples $(A, B, C) \in \mathcal{K}_N$ such that both (A, B, C) and (A^{-1}, B^{-1}, C^{-1}) are linearly independent.

By Theorem 2.1, $\mathcal{E}_2 = \mathcal{K}_2 = \mathcal{K}_2^\dagger$. For general $N > 2$, the sets $\mathcal{E}_N, \mathcal{K}_N$ and \mathcal{K}_N^\dagger seem to be distinct and new in the context of Riemannian geometry and matrix analysis. These are invariant under inversion and congruence transformations $(A, B, C) \mapsto M \cdot (A, B, C) = (MAM^*, MBM^*, MBM^*)$, $M \in \text{SL}^\pm(N, \mathbb{C})$, due to that of the Karcher mean.

Finally we discuss about $\mathcal{K}_N^\dagger \neq \emptyset$ for $N \geq 2$. This is true for $N = 2$ and for every even number N , by assuming Theorem 1.1. Let $a > 1$ and

$$A = \begin{bmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix}, \quad B = \begin{bmatrix} a & 0 & 0 \\ 0 & a^{-1} & 0 \\ 0 & 0 & 1 \end{bmatrix}, \quad C = \begin{bmatrix} 1 & 0 & 0 \\ 0 & a^{-1} & 0 \\ 0 & 0 & a \end{bmatrix}.$$

Then $\sigma(AB^{-1}) = \sigma(AC^{-1}) = \sigma(BC^{-1}) = \{a, a^{-1}, 1\}$ and hence $\delta(A, B) = \delta(A, C) = \delta(B, C)$. One can directly see that $\{A, B, C\}$ and $\{A^{-1}, B^{-1}, C^{-1}\}$ are linearly independent. Moreover

$$\begin{aligned} \Lambda(A, B, C) &= (ABC)^{\frac{1}{3}} = \begin{bmatrix} a^{1/3} & 0 & 0 \\ 0 & a^{-2/3} & 0 \\ 0 & 0 & a^{1/3} \end{bmatrix} \\ &= \frac{\sqrt[3]{a}}{a+2}(A+B+C) = \frac{A+B+C}{\sqrt[3]{\det(A+B+C)}}. \end{aligned}$$

Replacing a with a^{-1} yields

$$\Lambda(A^{-1}, B^{-1}, C^{-1}) = \frac{A^{-1} + B^{-1} + C^{-1}}{\sqrt[3]{\det(A^{-1} + B^{-1} + C^{-1})}}.$$

This shows that $\mathcal{K}_3^\dagger \neq \emptyset$. We believe that $\mathcal{K}_N^\dagger \neq \emptyset$ for all $N \geq 2$ and leave the proof to the reader.

3. PROOF OF THE MAIN THEOREM

Let $N = 2k$ be an even number. The Lie group $\mathrm{SL}^\pm(N, \mathbb{C})$ acts on \mathcal{E}_N via the congruence transformations. We recall a reduction process on the triples [5, 14]. Let $(A, B, C) \in \mathcal{E} = \mathcal{E}_N$ be fixed. Let λ, λ^{-1} be eigenvalues of $A^{-1/2}BA^{-1/2}$. Since $A \neq B$, we may assume that $\lambda > 1$. Pick a unitary matrix U such that

$$A^{-1/2}BA^{-1/2} = UDU^*, \quad D := D_N(\lambda)$$

and set $W := U^*A^{-1/2}CA^{-1/2}U$. Then $(A, B, C) = M.(I, D, W)$, where $M := A^{1/2}U$, from

$$\begin{aligned} (A, B, C) &= (A^{1/2}IA^{1/2}, A^{1/2}(A^{-1/2}BA^{-1/2})A^{1/2}, A^{1/2}(A^{-1/2}CA^{-1/2})A^{1/2}) \\ &= A^{1/2} (I, UDU^*, A^{-1/2}CA^{-1/2}) A^{1/2} = A^{1/2} (I, UDU^*, UWU^*) A^{1/2} \\ &= A^{1/2}U(I, D, W)U^*A^{1/2} = M.(I, D, W). \end{aligned}$$

Since $M \in \mathrm{SL}(N, \mathbb{C})^\pm$, we have from Proposition 2.5 (7) that

$$(3.7) \quad (I, D = D_N(\lambda), W) \in \mathcal{E}_N.$$

That is, $\sigma(D) = \sigma(W) = \sigma(DW^{-1}) = \{\lambda, \lambda^{-1}\}$.

Next, we describe the positive definite matrix W in (3.7) explicitly. Since $\sigma(W) = \{\lambda, \lambda^{-1}\} = \sigma(D)$, we can find a unitary matrix V such that $W = VDV^*$. By CS-decomposition of V (cf. Theorem VII. 1. 6 of [3]),

$$(3.8) \quad V = V_1 \begin{bmatrix} C & S \\ -S & C \end{bmatrix} V_2$$

where $V_1 = \mathrm{diag}(V_{11}, V_{12})$ and $V_2 = \mathrm{diag}(V_{21}, V_{22})$ are unitary matrices such that V_{ij} are $k \times k$ for $i, j = 1, 2$ and C, S are nonnegative diagonal matrices, with diagonal

entries

$$(3.9) \quad 0 \leq c_1 \leq \dots \leq c_k \leq 1, \quad 1 \geq s_1 \geq \dots \geq s_k \geq 0$$

respectively, and

$$(3.10) \quad C^2 + S^2 = I.$$

It follows from $W = VDV^*$ and $V_2DV_2^* = D$ that

$$\begin{aligned} W &= V_1 \begin{bmatrix} C & S \\ -S & C \end{bmatrix} V_2DV_2^* \begin{bmatrix} C & -S \\ S & C \end{bmatrix} V_1^* = V_1 \begin{bmatrix} C & S \\ -S & C \end{bmatrix} D \begin{bmatrix} C & -S \\ S & C \end{bmatrix} V_1^* \\ &= V_1 \begin{bmatrix} C & S \\ -S & C \end{bmatrix} \begin{bmatrix} \lambda I_N & 0 \\ 0 & \lambda^{-1} I_N \end{bmatrix} \begin{bmatrix} C & -S \\ S & C \end{bmatrix} V_1^* \\ &= V_1 \underbrace{\begin{bmatrix} \lambda C^2 + \lambda^{-1} S^2 & (\lambda^{-1} - \lambda)SC \\ (\lambda^{-1} - \lambda)SC & \lambda S^2 + \lambda^{-1} C^2 \end{bmatrix}}_{:=W(C,S;\lambda)} V_1^*. \end{aligned}$$

We then have from $V_1^*DV_1 = D$ that

$$\begin{aligned} (A, B, C) &= A^{1/2}U.(I, D, W) = A^{1/2}U.(I, D = D_N(\lambda), V_1W(C, S; \lambda)V_1^*) \\ &= A^{1/2}UV_1.(I, V_1^*DV_1, W(C, S; \lambda)) \\ (3.11) \quad &= A^{1/2}UV_1.(I, D, W(C, S; \lambda)) \end{aligned}$$

and hence $(I, D = D_N(\lambda), W(C, S; \lambda)) \in \mathcal{E}_N$. We note that $W(C, S; \lambda)$ is a partitioned matrix whose blocks are diagonal matrices, and its construction depends only on the identity $\sigma(W) = \sigma(D) = \{\lambda, \lambda^{-1}\}$. Note that $(\lambda^{-1} - \lambda)SC$, the entry of $(1, 2)$ block of $W(C, S; \lambda)$, is nonpositive from $\lambda > 1$.

The other condition $\sigma(D^{-1}W) = \{\lambda, \lambda^{-1}\}$ together with the following lemma is crucial for the following description of $W(C, S; \lambda)$:

$$(3.12) \quad W(C, S; \lambda) = W_\lambda \otimes I_k,$$

where

$$W_\lambda := \begin{bmatrix} a & b \\ b & c \end{bmatrix}$$

and

$$a = \frac{\lambda^2 + 1}{\lambda + 1}, \quad b = -\frac{(\lambda - 1)\sqrt{\lambda^2 + \lambda + 1}}{\sqrt{\lambda}(\lambda + 1)}, \quad c = \frac{\lambda^2 + 1}{\lambda(\lambda + 1)}.$$

Lemma 3.1. *Let $M = \begin{bmatrix} X & Y \\ Y & Z \end{bmatrix}$ be a $2n \times 2n$ matrix where each block is $n \times n$ real diagonal, i.e., $X = \text{diag}(a_1, \dots, a_n)$, $Y = \text{diag}(b_1, \dots, b_n)$, $Z = \text{diag}(c_1, \dots, c_n)$ and $a_j, b_j, c_j \in \mathbb{R}$ for $j = 1, \dots, n$. Then*

$$(3.13) \quad \sigma(M) = \left\{ \frac{a_j + c_j \pm \sqrt{(a_j - c_j)^2 + 4b_j^2}}{2}, j = 1, \dots, n \right\}.$$

If further $a_j, c_j > 0$ for all j (for instance, M is positive definite) and $\sigma(M) = \sigma(D_{2n}(\lambda)^{-1}M) = \{\lambda, \lambda^{-1}\}$ for some $\lambda > 1$, then for all $j = 1, \dots, n$,

$$a_j = \frac{\lambda^2 + 1}{\lambda + 1}, \quad b_j \in \left\{ \pm \frac{(\lambda - 1)\sqrt{\lambda^2 + \lambda + 1}}{\sqrt{\lambda}(\lambda + 1)} \right\}, \quad c_j = \frac{\lambda^2 + 1}{\lambda(\lambda + 1)}.$$

.

Proof. The first assertion is direct from

$$\begin{aligned} \det(xI_{2n} - M) &= \det \begin{bmatrix} xI_n - X & -Y \\ -Y & xI_n - Z \end{bmatrix} = \det((xI_n - Z)(xI_n - X) - Y^2) \\ &= \prod_{j=1}^n [(x - c_j)(x - a_j) - b_j^2] = 0. \end{aligned}$$

For the second assertion we will separate by cases. First note that

$$D^{-1}M = \begin{bmatrix} \lambda^{-1}X & Y \\ Y & \lambda Z \end{bmatrix}, \quad D := D_{2n}(\lambda).$$

By the first assertion, we have that

$$(3.14) \quad \sigma(D^{-1}M) = \left\{ \frac{a_j \lambda^{-1} + c_j \lambda \pm \sqrt{(a_j \lambda^{-1} - c_j \lambda)^2 + 4b_j^2}}{2}, j = 1, \dots, n \right\}.$$

(1) We will show that $b_j \neq 0$ for all j . Suppose that $b_k = 0$ for some k . We divide two cases; $a_k = c_k$ or $a_k \neq c_k$. Suppose that $a_k \neq c_k$. By (3.13) and $\sigma(M) = \{\lambda, \lambda^{-1}\}$,

$$\frac{a_k + c_k + |a_k - c_k|}{2} = \lambda, \quad \frac{a_k + c_k - |a_k - c_k|}{2} = \lambda^{-1}.$$

Also by $\sigma(D^{-1}M) = \{\lambda, \lambda^{-1}\}$ and (3.14),

$$\begin{aligned}\frac{a_k\lambda^{-1} + c_k\lambda + |a_k\lambda^{-1} - c_k\lambda|}{2} &= \lambda; \\ \frac{a_k\lambda^{-1} + c_k\lambda - |a_k\lambda^{-1} - c_k\lambda|}{2} &= \lambda^{-1}.\end{aligned}$$

One sees easily that $\lambda = 1$, which is impossible. Similarly the case $a_k = c_k$ gives us a contradiction.

(2) Suppose that $a_k = c_k$ for some k . By (1), $b_k \neq 0$ and hence

$$a_k + |b_k| = \lambda, \quad a_k - |b_k| = \lambda^{-1}$$

and

$$\frac{a_k(\lambda^{-1} + \lambda) + 2|b_k|}{2} = \lambda, \quad \frac{a_k(\lambda^{-1} + \lambda) - 2|b_k|}{2} = \lambda^{-1}.$$

This leads to $\lambda = 1$. Therefore $a_j \neq c_j$ for all j .

(3) By (1) and (2), $b_j \neq 0$ and $a_j \neq c_j$, for all $j = 1, \dots, N$. We then have that

$$\begin{aligned}\frac{a_j + c_j + \sqrt{(a_j - c_j)^2 + 4b_j^2}}{2} &= \lambda; \\ \frac{a_j + c_j - \sqrt{(a_j - c_j)^2 + 4b_j^2}}{2} &= \lambda^{-1}.\end{aligned}$$

Also by $\sigma(D^{-1}M) = \{\lambda, \lambda^{-1}\}$ and (3.14),

$$\begin{aligned}\frac{a_j\lambda^{-1} + c_j\lambda + \sqrt{(a_j\lambda^{-1} - c_j\lambda)^2 + 4b_j^2}}{2} &= \lambda; \\ \frac{a_j\lambda^{-1} + c_j\lambda - \sqrt{(a_j\lambda^{-1} - c_j\lambda)^2 + 4b_j^2}}{2} &= \lambda^{-1}.\end{aligned}$$

The only possible solution of the previous four equalities are of the form

$$a_j = \frac{\lambda^2 + 1}{\lambda + 1}, b_j = \pm \frac{(\lambda - 1)\sqrt{\lambda^2 + \lambda + 1}}{\sqrt{\lambda}(\lambda + 1)}, c_j = \frac{\lambda^2 + 1}{\lambda(\lambda + 1)},$$

for all $j = 1, \dots, n$. Indeed, summing up the first two equalities and the second two we get that $a_j + c_j = \lambda + \lambda^{-1} = a_j\lambda^{-1} + c_j\lambda$, from which $a_j(1 - \lambda^{-1}) + c_j(1 - \lambda) = 0$

and so $a_j = c_j \frac{\lambda-1}{1-\lambda^{-1}} = c_j \lambda$. We then have that $a_j = \frac{\lambda^2+1}{\lambda+1}$ and $c_j = \frac{\lambda^2+1}{\lambda(\lambda+1)}$. On the other hand by subtracting the first two equalities we get that

$$\sqrt{(a_j - c_j)^2 + 4b_j^2} = \lambda - \lambda^{-1},$$

from which $2|b_j| = \sqrt{(\lambda - \lambda^{-1})^2 - (a_j - c_j)^2}$. Note that

$$\begin{aligned} \sqrt{(\lambda - \lambda^{-1})^2 - (a_j - c_j)^2} &= \sqrt{(\lambda - \lambda^{-1})^2 - \left(\frac{\lambda^2+1}{\lambda+1} - \frac{\lambda^2+1}{\lambda(\lambda+1)} \right)^2} \\ &= \sqrt{(\lambda - \lambda^{-1})^2 - \left(\frac{(\lambda^2+1)(\lambda-1)}{\lambda(\lambda+1)} \right)^2} \\ &= \frac{1}{\lambda(\lambda+1)} \sqrt{[(\lambda^2-1)(\lambda+1)]^2 - [(\lambda^2+1)(\lambda-1)]^2} \\ &= \frac{1}{\lambda(\lambda+1)} \sqrt{[(\lambda^3-1) + (\lambda^2-\lambda)]^2 - [(\lambda^3-1) - (\lambda^2-\lambda)]^2} \\ &= \frac{2}{\lambda(\lambda+1)} \sqrt{(\lambda^3-1)(\lambda^2-\lambda)} \\ &= \frac{2}{\lambda(\lambda+1)} \sqrt{(\lambda-1)(\lambda^2+\lambda+1)\lambda(\lambda-1)} \\ &= \frac{2(\lambda-1)}{\sqrt{\lambda}(\lambda+1)} \sqrt{(\lambda^2+\lambda+1)}. \end{aligned}$$

This completes the proof. □

Remark 3.2. Note that the 2×2 matrix $W_\lambda = \begin{bmatrix} a & b \\ b & c \end{bmatrix}$ in (3.12) belongs to \mathbf{H}_2 such that (1) $a > c$, (2) $b < 0$ and (3) $\sigma(W_\lambda) = \{\lambda, \lambda^{-1}\}$. Applying the reduction process for $N = 2$ leads to

$$\gamma(\lambda) := (I_2, D_1(\lambda), W_\lambda) \in \mathcal{E}_2, \quad \lambda > 1.$$

This defines a one-parameter family in \mathcal{E}_2 .

We then finally conclude that

$$\begin{aligned}
(A, B, C) &= L.(I, D, W(C, S; \lambda)) \quad (L := A^{1/2}UV_1, D = D_N(\lambda)) \\
&= L.\left(I_2 \otimes I_k, \begin{bmatrix} \lambda & 0 \\ 0 & \lambda^{-1} \end{bmatrix} \otimes I_k, W_\lambda \otimes I_k\right) \\
&= L.(I_2 \otimes I_k, D_1(\lambda) \otimes I_k, W_\lambda \otimes I_k) \\
&= L.(I_2, D_1(\lambda), W_\lambda) \otimes I_k,
\end{aligned}$$

where $(X, Y, Z) \otimes K := (X \otimes K, Y \otimes K, Z \otimes K)$. In particular,

$$(I_2, D_1(\lambda), W_\lambda) \otimes I_k \in \mathcal{E}_N, \quad (N = 2k).$$

Definition 3.3. Define $\gamma_N : (1, \infty) \rightarrow \mathcal{E}_N$ by

$$\gamma_N(\lambda) = \gamma(\lambda) \otimes I_k = (I_2, D_1(\lambda), W_\lambda) \otimes I_k, \quad (N = 2k).$$

The analytic map γ_N can be extended on $(0, \infty)$ with $\gamma_N(1) = (I, I, I)$.

We have shown that the map

$$\mathrm{SL}(N, \mathbb{C})^\pm \times (1, \infty) \rightarrow \mathcal{E}_N, \quad (M, \lambda) \mapsto M.\gamma_N(\lambda)$$

is surjective, which is an analytic parametrization of \mathcal{E}_N .

Next, we will describe the quotient structure of \mathcal{E}_N from the preceding parameterization. To do this, let $\mathbb{U}_k \oplus \mathbb{U}_k$ be the subgroup of the unitary group \mathbb{U}_N , $N = 2k$, consisting of block diagonal matrices

$$\begin{bmatrix} V_1 & 0 \\ 0 & V_2 \end{bmatrix}, \quad V_1, V_2 \in \mathbb{U}_k.$$

It contains the Lie subgroup

$$I_2 \otimes \mathbb{U}_k = \left\{ \begin{bmatrix} V & 0 \\ 0 & V \end{bmatrix} : V \in \mathbb{U}_k \right\} \subset \mathbb{U}_k \oplus \mathbb{U}_k.$$

Lemma 3.4. For $U \in \mathbb{U}_N$, $N = 2k$, and $\lambda > 1$, $U.D_N(\lambda) = D_N(\lambda)$ if and only if $U \in \mathbb{U}_k \oplus \mathbb{U}_k$. Moreover for $U \in \mathbb{U}_k \oplus \mathbb{U}_k$, $U.(W_\lambda \otimes I_k) = W_\lambda \otimes I_k$ if and only if $U \in I_2 \otimes \mathbb{U}_k$.

Proof. Suppose that $UD_N(\lambda)U^* = D_N(\lambda)$. Let $U = \begin{bmatrix} U_{11} & U_{12} \\ U_{21} & U_{22} \end{bmatrix}$, where U_{ij} are $k \times k$ matrices. Then

$$\begin{bmatrix} U_{11}U_{11}^* + U_{12}U_{12}^* & U_{11}U_{21}^* + U_{12}U_{22}^* \\ U_{21}U_{11}^* + U_{22}U_{12}^* & U_{21}U_{21}^* + U_{22}U_{22}^* \end{bmatrix} = I_N$$

from $UU^* = I_N$, and

$$\begin{bmatrix} \lambda U_{11}U_{11}^* + \lambda^{-1}U_{12}U_{12}^* & \lambda U_{11}U_{21}^* + \lambda^{-1}U_{12}U_{22}^* \\ \lambda U_{21}U_{11}^* + \lambda^{-1}U_{22}U_{12}^* & \lambda U_{21}U_{21}^* + \lambda^{-1}U_{22}U_{22}^* \end{bmatrix} = D_N(\lambda)$$

from $U.D_N(\lambda) = D_N(\lambda)$. From the $(1, 1)$ entries, we see that

$$\lambda U_{11}U_{11}^* + \lambda^{-1}U_{12}U_{12}^* = \lambda I_k = \lambda(U_{11}U_{11}^* + U_{12}U_{12}^*)$$

from which $U_{12}U_{12}^* = \lambda^2 U_{12}U_{12}^*$. Since $\lambda \neq 1$, $U_{12}U_{12}^* = 0$ and hence $U_{11}U_{11}^* = I_k$. Similarly $U_{21}U_{21}^* = 0$ and $U_{22}U_{22}^* = I_k$.

From the $(1, 2)$ entries,

$$U_{11}U_{21}^* + U_{12}U_{22}^* = 0 = \lambda U_{11}U_{21}^* + \lambda^{-1}U_{12}U_{22}^*$$

from which $(\lambda - 1)U_{11}U_{21}^* = (1 - \lambda^{-1})U_{12}U_{22}^*$, that is $\lambda U_{11}U_{21}^* = U_{12}U_{22}^*$. This implies that $\lambda U_{21}U_{11}^* + \lambda^{-1}U_{22}U_{12}^* = U_{22}U_{12}^* + U_{21}U_{11}^*$ from which $\lambda U_{21}U_{11}^* = U_{22}U_{12}^* = -U_{21}U_{11}^*$. Hence $U_{21}U_{11}^* = 0$. Since U_{11} is unitary, $U_{21} = 0$ and hence $U_{12} = 0$.

Next, the block unitary matrix $U = \begin{bmatrix} V_1 & 0 \\ 0 & V_2 \end{bmatrix}$ fixes $W_\lambda \otimes I_k$. Letting $W_\lambda = \begin{bmatrix} a & b \\ b & c \end{bmatrix}$ leads to $bV_1V_2^* = bI_k$. Since $b \neq 0$, we have that $V_1 = W_2$. \square

We consider the homogeneous space

$$\mathbf{E}_N := \mathrm{SL}(N, \mathbb{C})^\pm / I_2 \otimes \mathbb{U}_k, \quad (N = 2k).$$

Theorem 3.5. *The map $\Gamma : \mathbf{E}_N \times (1, \infty) \rightarrow \mathcal{E}_N$ defined by $\Gamma([M], \lambda) = M.\gamma_N(\lambda)$ is bijective.*

Proof. Let $M_1, M_2 \in \mathcal{S}(N, \mathbb{C})^\pm$ such that $[M_1] = [M_2]$, that is, $M_1 = M_2K$ for some $K \in I_2 \otimes \mathbb{U}_k$. For every $\lambda > 1$,

$$\begin{aligned} M_1.(I.D_N(\lambda), W_\lambda \otimes I_k) &= M_2K.(I.D_N(\lambda), W_\lambda \otimes I_k) \\ &= M_2(KK^*, KD_N(\lambda)K^*, K(W_\lambda \otimes I_k)K^*) \\ &= M_1.(I.D_N(\lambda), W_\lambda \otimes I_k) \end{aligned}$$

where the last equality follows from $K \in I_2 \otimes \mathbb{U}_{\frac{N}{2}}$. This proves that the map Γ is well-defined. The map Γ is surjective since the map $(M, \lambda) \mapsto M \cdot \gamma_N(\lambda)$ is surjective on $\mathrm{SL}(N, \mathbb{C})^\pm \times (1, \infty)$. Suppose that $\Gamma([M_1], \lambda) = \Gamma([M_2], \beta)$. Then $M_1 M_1^* = M_2 M_2^*$ which implies that $K := M_2^{-1} M_1$ is unitary. By the second coordinates, $K D_N(\lambda) K^* = D_N(\beta)$ and hence $\{\lambda, \lambda^{-1}\} = \{\beta, \beta^{-1}\}$. This implies that $\lambda = \beta$ and $K \in \mathbb{U}_k \oplus \mathbb{U}_k$, by Lemma 3.4. By the third coordinates, the unitary matrix K fixes $W_\lambda \otimes I_k$. By Lemma 3.4, $K \in I_2 \otimes \mathbb{U}_k$. This implies that $[M_1] = [M_2]$ and hence Γ is injective. \square

Remark 3.6. The set \mathcal{E}_N has an analytic manifold structure from the preceding theorem. As $\mathcal{E}_N \subset \mathbf{H}_N^3$, equipped with the product Riemannian structure from that of \mathbf{H}_N , it is not obvious whether it becomes a submanifold \mathbf{H}_N^3 . In the proof of the preceding theorem, we have proved that the set $\{(A, B) \in \mathbf{H}_N : \sigma(A^{-1}B) = \{\lambda, \lambda^{-1}\}, \lambda > 1\}$ can be identified with the analytic manifold $\left(\mathrm{SL}(N, \mathbb{C})^\pm / \mathbb{U}_{\frac{N}{2}} \oplus \mathbb{U}_{\frac{N}{2}}\right) \times (1, \infty)$.

The first part of the main theorem 1.1 is immediate from the following.

Theorem 3.7. *We have that $\mathcal{E}_N = \mathrm{SL}(N, \mathbb{C})^\pm \cdot \gamma_N((1, \infty)) \subset \mathcal{K}_N^\dagger$.*

Proof. Since the set \mathcal{E}_N is closed under inversion, it is enough to show that

$$\Lambda(A, B, C) = \frac{A + B + C}{\sqrt[N]{\det(A + B + C)}}$$

for every $(A, B, C) \in \mathcal{E}_N$. Let $(A, B, C) \in \mathcal{E}_N$. Then $(A, B, C) = M \cdot (I_2, D_1(\lambda), W_\lambda) \otimes I_{\frac{N}{2}}$ for some $\lambda > 1$ and $M \in \mathrm{SL}^\pm$. By the determinantal identity, $\det(X \otimes Y) = \det(X)^n \det(Y)^m$ for $m \times m$ matrix X and $n \times n$ matrix Y (see [1, 3] for further basic properties of tensor product), we have that

$$\begin{aligned} \det(A + B + C) &= \det \left(M \left(I_2 \otimes I_{\frac{N}{2}} + D_1(\lambda) \otimes I_{\frac{N}{2}} + W_\lambda \otimes I_{\frac{N}{2}} \right) M^* \right) \\ &= \det \left(I_2 \otimes I_{\frac{N}{2}} + D_1(\lambda) \otimes I_{\frac{N}{2}} + W_\lambda \otimes I_{\frac{N}{2}} \right) \\ &= \det \left[(I_2 + D_1(\lambda) + W_\lambda) \otimes I_{\frac{N}{2}} \right] \\ &= \det(I_2 + D_1(\lambda) + W_\lambda)^{\frac{N}{2}} \end{aligned}$$

from which $\sqrt[N]{\det(A + B + C)} = \sqrt{\det(I_2 + D_1(\lambda) + W_\lambda)}$.

The map $X \mapsto X \otimes I_{\frac{N}{2}}$ on \mathbf{H}_2 preserves the Karcher mean (see Example 5.2 for general case):

$$\begin{aligned} \Lambda \left(X \otimes I_{\frac{N}{2}}, Y \otimes I_{\frac{N}{2}}, Z \otimes I_{\frac{N}{2}} \right) &= \Lambda(X, Y, Z) \otimes \Lambda \left(I_{\frac{N}{2}}, I_{\frac{N}{2}}, I_{\frac{N}{2}} \right) \\ &= \Lambda(X, Y, Z) \otimes I_{\frac{N}{2}}. \end{aligned}$$

Then

$$\begin{aligned} \Lambda(A, B, C) &= \Lambda \left(M \cdot (I_2, D_1(\lambda), W_\lambda) \otimes I_{\frac{N}{2}} \right) = M \cdot \Lambda \left((I_2, D_1(\lambda), W_\lambda) \otimes I_{\frac{N}{2}} \right) \\ &= M \left[\Lambda(I_2, D_1(\lambda), W_\lambda) \otimes I_{\frac{N}{2}} \right] M^* \\ &= M \left[\left(\frac{I_2 + D_1(\lambda) + W_\lambda}{\sqrt{\det(I_2 + D_1(\lambda) + W_\lambda)}} \right) \otimes I_{\frac{N}{2}} \right] M^* \\ &= M \left[\left(\frac{I_2 \otimes I_{\frac{N}{2}} + D_1(\lambda) \otimes I_{\frac{N}{2}} + W_\lambda \otimes I_{\frac{N}{2}}}{\sqrt{\det(I_2 + D_1(\lambda) + W_\lambda)}} \right) \right] M^* \\ &= \frac{A + B + C}{\sqrt{\det(I_2 + D_1(\lambda) + W_\lambda)}} \\ &= \frac{A + B + C}{\sqrt[N]{\det(A + B + C)}}. \end{aligned}$$

This completes the proof. □

Example 3.8. For $N = 4$ and $\lambda = 2$,

$$W_2 = \frac{1}{3} \begin{bmatrix} 5 & -\frac{\sqrt{7}}{\sqrt{2}} \\ -\frac{\sqrt{7}}{\sqrt{2}} & \frac{5}{2} \end{bmatrix}$$

and $\gamma_4(2) = (I, D, W)$ where

$$I = \begin{bmatrix} 1 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 \\ 0 & 0 & 1 & 0 \\ 0 & 0 & 0 & 1 \end{bmatrix}, D = \begin{bmatrix} 2 & 0 & 0 & 0 \\ 0 & 2 & 0 & 0 \\ 0 & 0 & 1/2 & 0 \\ 0 & 0 & 0 & 1/2 \end{bmatrix}, W = \frac{1}{3} \begin{bmatrix} 5 & 0 & -\sqrt{\frac{7}{2}} & 0 \\ 0 & 5 & 0 & -\sqrt{\frac{7}{2}} \\ -\sqrt{\frac{7}{2}} & 0 & \frac{5}{2} & 0 \\ 0 & -\sqrt{\frac{7}{2}} & 0 & \frac{5}{2} \end{bmatrix}.$$

Let

$$W' = \frac{1}{3} \begin{bmatrix} 5 & 0 & \frac{\sqrt{7}}{2} & \frac{\sqrt{7}}{2} \\ 0 & 5 & -\frac{\sqrt{7}}{2} & \frac{\sqrt{7}}{2} \\ \frac{\sqrt{7}}{2} & -\frac{\sqrt{7}}{2} & \frac{5}{2} & 0 \\ \frac{\sqrt{7}}{2} & \frac{\sqrt{7}}{2} & 0 & \frac{5}{2} \end{bmatrix} \in \mathbf{H}_4.$$

Then $\sigma(D) = \sigma(W') = \sigma(D^{-1}W') = \{2, 1/2\}$ and hence $(I, D, W') \in \mathcal{E}_4$. One see that

$$(I, D, W') = U \cdot \gamma_4(2) = U \cdot (I, D, W),$$

where

$$U = \begin{bmatrix} -\frac{1}{\sqrt{2}} & -\frac{1}{\sqrt{2}} & 0 & 0 \\ \frac{1}{\sqrt{2}} & -\frac{1}{\sqrt{2}} & 0 & 0 \\ 0 & 0 & 1 & 0 \\ 0 & 0 & 0 & 1 \end{bmatrix}.$$

Example 3.9. For $N \geq 3$ and $\lambda > 1$ let

$$A = I_N, B = \text{diag}(\lambda, \lambda^{-1}, \underbrace{1, \dots, 1}_{N-2}), C = \text{diag}(\lambda, 1, \lambda^{-1}, \underbrace{1, \dots, 1}_{N-3}).$$

Then $\sigma(AB^{-1}) = \sigma(AC^{-1}) = \sigma(BC^{-1}) = \{\lambda, \lambda^{-1}, 1\}$ where the multiplicity of 1 is $N - 2$. This implies that $\delta(A, B) = \delta(A, C) = \delta(B, C)$. It is easy to see that A, B, C are linearly independent and not collinear. Since A, B, C are commuting, $\Lambda(A, B, C) = (ABC)^{\frac{1}{3}}$ and is different from $\frac{A+B+C}{\sqrt[N]{\det(A+B+C)}}$:

$$(ABC)^{\frac{1}{3}} = \text{diag}(\lambda^{2/3}, \lambda^{-1/3}, \lambda^{-1/3}, \underbrace{1, \dots, 1}_{N-3});$$

$$\frac{A+B+C}{\sqrt[N]{\det(A+B+C)}} = \frac{\text{diag}(1+2\lambda, 2+\lambda^{-1}, 2+\lambda^{-1}, 3, \dots, 3)}{\sqrt[N]{(1+2\lambda)(2+\lambda^{-1})^2 3^{N-3}}}.$$

The following result for $N = 2$ appears in [15]. One can alternatively prove that using the formula $\det(I + A) = 2 + \text{tr}(A)$ for every $A \in \mathbf{H}_2$; for $A, B, C \in \mathbf{H}_2$, $\det(A + B) = \det(A^{-1} + B^{-1})$ and

$$(3.15) \quad \begin{aligned} \det(A + B + C) &= \det(A^{-1} + B^{-1} + C^{-1}) \\ &= 3 + \text{tr}(AB^{-1}) + \text{tr}(AC^{-1}) + \text{tr}(AC^{-1}). \end{aligned}$$

Corollary 3.10. *For every $(A, B, C) \in \mathcal{E}_N$,*

$$\det(A + B + C) = \det(A^{-1} + B^{-1} + C^{-1}).$$

Proof. It follows from the reduction process $(A, B, C) = M.\gamma_N(\lambda)$ and the self-duality of tensor product $(X \otimes Y)^{-1} = X^{-1} \otimes Y^{-1}$:

$$(A^{-1}, B^{-1}, C^{-1}) = (M^*)^{-1}.\gamma(\lambda)^{-1} \otimes I_{\frac{N}{2}}$$

and hence

$$\begin{aligned} \det(A^{-1} + B^{-1} + C^{-1}) &= \det(I_2 + D_1(\lambda)^{-1} + W_\lambda^{-1})^{\frac{N}{2}} \\ &= \det(I_2 + D_1(\lambda) + W_\lambda)^{\frac{N}{2}} \\ &= \det(A + B + C). \end{aligned}$$

□

Note that for every $(A, B, C) \in \mathcal{E}_N$,

$$\det(A + B + C) = \left(3(\lambda + \lambda^{-1} + 1)\right)^{\frac{N}{2}},$$

that is,

$$(3.16) \quad \sqrt[N]{\det(A + B + C)} = \sqrt{3(\lambda + \lambda^{-1} + 1)}.$$

where λ is uniquely determined by $(A, B, C) = M.\gamma_N(\lambda)$.

Remark 3.11. [Isosceles triangles] The reduction argument (3.11) is applicable for every isosceles triangle ΔABC with $\delta(A, B) = \delta(A, C) = \{\lambda, \lambda^{-1}\}$, in which case the matrix

$$W(C, S; \lambda) = \begin{bmatrix} \lambda C^2 + \lambda^{-1} S^2 & (\lambda^{-1} - \lambda) SC \\ (\lambda^{-1} - \lambda) SC & \lambda S^2 + \lambda^{-1} C^2 \end{bmatrix} \in \mathbf{H}_N,$$

depends on C, S , and λ . The one parameter family $W(C, S; \lambda)$ over λ but fixed diagonal matrices C and S satisfying $C^2 + S^2 = I$ is apparently new in matrix analysis. A detailed study for the Karcher mean of 2×2 isosceles triangles appears in [9].

4. INEQUALITIES

In this section we are interested in matrix mean inequalities from the Karcher mean formula (1.3) for $(A, B, C) \in \mathcal{K}_N$. Recall the Löwner ordering for Hermitian matrices: $X \leq Y$ if and only if $Y - X$ is positive semidefinite. Denote by \mathcal{A} and \mathcal{H} the arithmetic and harmonic means:

$$\mathcal{A}(A, B, C) = \frac{A + B + C}{3}, \quad \mathcal{H}(A, B, C) = \left[\frac{A^{-1} + B^{-1} + C^{-1}}{3} \right]^{-1}.$$

The arithmetic-Karcher-harmonic mean inequalities hold true for every $(A, B, C) \in \mathbb{P}_N$:

$$\mathcal{H}(A, B, C) \leq \Lambda(A, B, C) \leq \mathcal{A}(A, B, C).$$

Let $(A, B, C) \in \mathcal{K}_N$. Since $(A^{-1}, B^{-1}, C^{-1}) \in \mathcal{K}_N$,

$$\begin{aligned} \left[\frac{A + B + C}{\sqrt[N]{\det(A + B + C)}} \right]^{-1} &= \Lambda(A, B, C)^{-1} = \Lambda(A^{-1}, B^{-1}, C^{-1}) \\ &= \frac{A^{-1} + B^{-1} + C^{-1}}{\sqrt[N]{\det(A^{-1} + B^{-1} + C^{-1})}}, \end{aligned}$$

from which

$$(4.17) \quad (A + B + C)(A^{-1} + B^{-1} + C^{-1}) = \alpha(A, B, C)I_N,$$

and

$$(4.18) \quad \mathcal{A}(A, B, C) = \frac{\alpha(A, B, C)}{9} \mathcal{H}(A, B, C),$$

where

$$(4.19) \quad \alpha(A, B, C) := \sqrt[N]{\det(A + B + C)(A^{-1} + B^{-1} + C^{-1})}.$$

It follows from (4.17) that

$$\begin{aligned} &A(B^{-1} + C^{-1}) + B(A^{-1} + C^{-1}) + C(A^{-1} + B^{-1}) \\ &= (B^{-1} + C^{-1})A + (A^{-1} + C^{-1})B + (A^{-1} + B^{-1})C. \end{aligned}$$

We have from (1.3) and (4.18) that

$$\Lambda(A, B, C) = \frac{\mathcal{A}(A, B, C)}{\sqrt[N]{\det \mathcal{A}(A, B, C)}}$$

and

$$\begin{aligned}
\mathcal{H}(A, B, C) &= \frac{3}{\alpha(A, B, C)} \mathcal{A}(A, B, C) \\
&= \frac{3}{\alpha(A, B, C)} \sqrt[p]{\det \mathcal{A}(A, B, C)} \frac{\mathcal{A}(A, B, C)}{\sqrt[p]{\det \mathcal{A}(A, B, C)}} \\
&= 3^{2-\frac{N}{p}} \frac{\det(A + B + C)^{\frac{1}{p}-\frac{1}{N}}}{\det(A^{-1} + B^{-1} + C^{-1})^{\frac{1}{N}}} \frac{\mathcal{A}(A, B, C)}{\sqrt[p]{\det \mathcal{A}(A, B, C)}}
\end{aligned}$$

for every $p > 0$.

Definition 4.1. For $(A, B, C) \in \mathcal{K}_N$, define

$$\Lambda_p(A, B, C) := \frac{\mathcal{A}(A, B, C)}{\sqrt[p]{\det(\mathcal{A}(A, B, C))}}, \quad 0 < p \leq \infty.$$

Letting $\Lambda_p = \Lambda_p(A, B, C)$ we have that $\Lambda_N = \Lambda$, $\Lambda_\infty = \mathcal{A}$ and $\Lambda_p \leq \Lambda_q$ for $p \leq q$, from $\det(\mathcal{A}(A, B, C)) = \frac{1}{3^N} \det(A + B + C) \geq \frac{1}{3^N} 3^N = 1$, where the last inequality follows from the Minkowski's determinantal inequality.

By the arithmetic-Karcher-harmonic mean inequalities, one would ask whether $\mathcal{H}(A, B, C) = \Lambda_p(A, B, C)$ for some $p < N$.

Theorem 4.2. Let $(A, B, C) \in \mathcal{K}_N$. If $\det(A + B + C) = \det(A^{-1} + B^{-1} + C^{-1})$, then for $N/2 \leq p \leq N \leq q$,

$$\begin{aligned}
\mathcal{H}(A, B, C) &= \Lambda_{\frac{N}{2}}(A, B, C) = \frac{\mathcal{A}(A, B, C)}{\sqrt[\frac{N}{2}]{\det(\mathcal{A}(A, B, C))}} \leq \frac{\mathcal{A}(A, B, C)}{\sqrt[p]{\det(\mathcal{A}(A, B, C))}} \\
&\leq \Lambda(A, B, C) = \frac{\mathcal{A}(A, B, C)}{\sqrt[N]{\det(\mathcal{A}(A, B, C))}} \leq \frac{\mathcal{A}(A, B, C)}{\sqrt[q]{\det(\mathcal{A}(A, B, C))}} \\
&\leq \mathcal{A}(A, B, C).
\end{aligned}$$

Proof. We have that

$$\mathcal{H}(A, B, C) = 3^{2-\frac{N}{p}} \det(A + B + C)^{\frac{1}{p}-\frac{2}{N}} \frac{\mathcal{A}(A, B, C)}{\sqrt[p]{\det \mathcal{A}(A, B, C)}}$$

for every $p > 0$. For $p = N/2$, $\Lambda_{\frac{N}{2}} = \mathcal{H}$. □

Remark 4.3. Theorem 4.2 holds without the equilateral condition on (A, B, C) . It holds true on \mathcal{E}_N by Corollary 3.10. For $N = 2$, it holds for every k -tuple in \mathbf{H}_2 [15].

5. POSITIVE LINEAR MAPS

Let $\phi : \mathbf{H}_m \rightarrow \mathbf{H}_n$ be a continuous map preserving the geometric mean:

$$\phi(A \# B) = \phi(A) \# \phi(B), \quad A, B \in \mathbf{H}_m.$$

By continuity and the fact $(A \#_s B) \# (A \#_t B) = A \#_{\frac{s+t}{2}} B$, we have that $\phi(A \#_t B) = \phi(A) \#_t \phi(B)$ for all $t \in [0, 1]$. Then Holbrook's no dice approximation of the Karcher mean [10] ensures

$$(5.20) \quad \phi(\Lambda(A_1, \dots, A_k)) = \Lambda(\phi(A_1), \dots, \phi(A_k))$$

for $A_j \in \mathbf{H}_m, j = 1, \dots, k$.

We further assume that the map ϕ extends to a positive homogeneous and additive map $\Phi : \mathbb{P}_m \rightarrow \mathbb{H}_n$, where \mathbb{H}_n is the Euclidean space of $n \times n$ Hermitian matrices:

$$\Phi(tA) = t\Phi(A), \quad \Phi(A + B) = \Phi(A) + \Phi(B), \quad t > 0.$$

Since

$$\Phi(A) = \Phi \left(\sqrt[m]{\det(A)} \frac{A}{\sqrt[m]{\det(A)}} \right) = \sqrt[m]{\det(A)} \phi \left(\frac{A}{\sqrt[m]{\det(A)}} \right),$$

Φ maps \mathbb{P}_m into \mathbb{P}_n . It then extends to a linear map $\Phi : \mathbb{H}_m \rightarrow \mathbb{H}_n$ sending the positive cone \mathbb{P}_m into \mathbb{P}_n , so called a strictly positive linear map. An important property of the positive linear map Φ is the following determinantal identity:

$$(5.21) \quad \sqrt[n]{\det(\Phi(A))} = \sqrt[m]{\det(A)}, \quad A \in \mathbb{P}_m.$$

Indeed,

$$\begin{aligned} \det(\Phi(A)) &= \det \left(\sqrt[m]{\det(A)} \phi \left(\frac{A}{\sqrt[m]{\det(A)}} \right) \right) \\ &= \det(A)^{\frac{n}{m}} \det \left(\phi \left(\frac{A}{\sqrt[m]{\det(A)}} \right) \right) = \det(A)^{\frac{n}{m}}. \end{aligned}$$

Example 5.1. Every strictly positive C^* -homomorphism $\Phi : \mathbb{H}_m \rightarrow \mathbb{H}_n$ preserves the geometric mean. To see this, note that $\Phi(X^2) = \Phi(X)^2$ for all $X \in \mathbb{H}_m$ implies that $\Phi(A^{-1}) = \Phi(A)^{-1}$ for all $A \in \mathbb{P}_m$ by Kadison's inequality. By the arithmetic-harmonic mean iteration of A and B , we have that $A \# B = \lim_{k \rightarrow \infty} A_k = \lim_{k \rightarrow \infty} B_k$,

where

$$A_0 := A, \quad B_0 := B, \quad A_{k+1} := \frac{A_k + B_k}{2}, \quad B_{k+1} := \left[\frac{A_k^{-1} + B_k^{-1}}{2} \right]^{-1}.$$

Applying to $\Phi(A)$ and $\Phi(B)$ yields $\Phi(A)\#\Phi(B) = \lim_{k \rightarrow \infty} X_k = \lim_{k \rightarrow \infty} Y_k$, where $X_0 := \Phi(A) = \Phi(A_0)$, $Y_0 := \Phi(B) = \Phi(B_0)$ and

$$X_{k+1} := \frac{X_k + Y_k}{2}, \quad Y_{k+1} := \left[\frac{X_k^{-1} + Y_k^{-1}}{2} \right]^{-1}.$$

It follows from induction and invariancy of Φ under inversion that $X_k = \Phi(A_k)$ and $Y_k = \Phi(B_k)$ for all k . This implies that

$$\begin{aligned} \Phi(A\#B) &= \lim_{k \rightarrow \infty} \Phi(A_{k+1}) = \lim_{k \rightarrow \infty} \Phi\left(\frac{A_k + B_k}{2}\right) = \lim_{k \rightarrow \infty} \frac{\Phi(A_k) + \Phi(B_k)}{2} \\ &= \lim_{k \rightarrow \infty} \frac{X_k + Y_k}{2} = \lim_{k \rightarrow \infty} X_{k+1} = \Phi(A)\#\Phi(B). \end{aligned}$$

However, $\Phi(\mathbf{H}_m) \subset \mathbf{H}_n$ fails in general, due to (5.21). It is unknown to us a classification of strictly positive C^* -homomorphisms satisfying (5.21) for $m \neq n$.

Example 5.2. Let $D \in \mathbf{H}_n$ and let $\Phi : \mathbb{H}_m \rightarrow \mathbb{H}_{mn}$ defined by $\Phi(X) = X \otimes D$. By basic properties of tensor product, Φ is injective and a strictly positive linear map sending \mathbf{H}_m into \mathbf{H}_{mn} . Moreover it satisfies (5.21) and preserves the geometric mean [1], $\Phi(A\#B) = \Phi(A)\#\Phi(B)$. We then have from (5.20) that

$$\Lambda(A \otimes D, B \otimes D, C \otimes D) = \Lambda(A, B, C) \otimes D = \Lambda(A, B, C) \otimes \Lambda(D, D, D).$$

In a similar way, $\Lambda(A \otimes D, B \otimes E, C \otimes F) = \Lambda(A, B, C) \otimes \Lambda(D, E, F)$. See Proposition 4.4 of [11].

Denote $\Phi(A, B, C) := (\Phi(A), \Phi(B), \Phi(C))$ for $(A, B, C) \in \mathbb{P}_m^3$. Let \mathcal{T}_m be the set of triples in \mathbf{H}_m satisfying (1.3) and $\mathcal{T}_m^\dagger \subset \mathcal{T}_m$ the subclass of linearly independent triples.

Proposition 5.3. *Let $\phi : \mathbf{H}_m \rightarrow \mathbf{H}_n$ be a continuous map preserving the geometric mean and admitting a strictly positive linear extension $\Phi : \mathbb{H}_m \rightarrow \mathbb{H}_n$. Then ϕ sends \mathcal{T}_m into \mathcal{T}_n . If Φ is injective, it sends \mathcal{T}_m^\dagger into \mathcal{T}_n^\dagger .*

Proof. We have from (5.21) and (5.20) that for every $(A, B, C) \in \mathcal{T}_m$,

$$\det(\phi(A) + \phi(B) + \phi(C)) = \det(\Phi(A + B + C)) = \det(A + B + C)^{\frac{n}{m}}$$

and

$$\begin{aligned} \Lambda(\phi(A), \phi(B), \phi(C)) &= \Lambda(\phi(A), \phi(B), \phi(C)) = \phi(\Lambda(A, B, C)) \\ &= \phi\left(\frac{A + B + C}{\sqrt[m]{\det(A + B + C)}}\right) \\ &= \frac{1}{\sqrt[m]{\det(A + B + C)}}\Phi(A + B + C) \\ &= \frac{\phi(A) + \phi(B) + \phi(C)}{\sqrt[n]{\det(\phi(A) + \phi(B) + \phi(C))}}. \end{aligned}$$

This proves that $\phi(\mathcal{T}_m) \in \mathcal{T}_n$. The remaining part of proof is immediate. \square

By Example 5.2,

Theorem 5.4. *For every $D \in \mathbf{H}_n$, $\mathcal{T}_m^\dagger \otimes D \subset \mathcal{T}_{mn}^\dagger$.*

We note that $\mathcal{E}_2 \otimes D$ is not contained in \mathcal{E}_{2n} for $D \neq I_n$.

6. FINAL REMARKS

Let E be a Hilbert space and let $\mathbb{P} = \mathbb{P}(E)$ be the convex cone of positive invertible operators on E . The Thompson metric on \mathbb{P} is defined by $d(A, B) = \|\log A^{-1}B\|$, where $\|X\|$ is the operator norm. The Karcher mean $\Lambda(A_1, \dots, A_k)$ is defined as a unique positive invertible solution of the Karcher equation [13]

$$\sum_{j=1}^n \log(X^{-1/2} A_j X^{-1/2}) = 0.$$

For $A, B \in \mathbb{P}$, the geometric mean curve $t \mapsto A \#_t B := A^{1/2}(A^{-1/2}BA^{-1/2})^t A^{1/2}$ is a minimal geodesic between A and B for the Thompson metric [7, 21, 22]. However there are infinitely many minimal geodesics in general: see [21, 22]. It turns out [18, 16, 17] for linearly independent A and B , that there exists a unique minimal geodesic between A and B if and only if $\sigma(A^{-1}B) = \{\lambda, \lambda^{-1}\}$ for some $\lambda > 1$, in which case by using Nussbaum's construction of minimal geodesic,

$$A \#_t B = L_{1-t}(\lambda)A + L_t(\lambda)B, \quad 0 \leq t \leq 1,$$

where $L_t(\lambda) = \frac{\lambda^t - \lambda^{-t}}{\lambda - \lambda^{-1}}$. It follows from $L_{1/2}(\lambda) = \sqrt{\lambda}(\lambda + 1)^{-1}$ that

$$A \# B = \sqrt{\lambda}(\lambda + 1)^{-1}(A + B) = \frac{A + B}{\sqrt{\lambda} + \sqrt{\lambda^{-1}}}$$

for $\sigma(A^{-1}B) = \{\lambda, \lambda^{-1}\}$. For finite dimensional case, we have seen that under $\det(A) = \det(B) = 1$,

$$A \# B = \frac{A + B}{\sqrt[n]{\det(A + B)}} = \frac{A + B}{\sqrt[n]{\det(I + A^{-1}B)}} = \frac{A + B}{\sqrt{\lambda} + \sqrt{\lambda^{-1}}}$$

from

$$\sqrt[n]{\det(A + B)} = \sqrt[n]{\det(I + A^{-1}B)} = \sqrt{\lambda} + \sqrt{\lambda^{-1}}.$$

In other words, the geometric mean is a scalar multiple of the arithmetic mean.

Next, let us consider $(A, B, C) \in \mathbb{P}(E)^3$ satisfying

$$(6.22) \quad \sigma(A^{-1}B) = \sigma(A^{-1}C) = \sigma(B^{-1}C) = \{\lambda, \lambda^{-1}\}, \quad \lambda > 1$$

and the Karcher mean $\Lambda(A, B, C)$ is of the form

$$(6.23) \quad \Lambda(A, B, C) = \frac{A + B + C}{\sqrt{3(\lambda + \lambda^{-1} + 1)}}.$$

Since $\lambda + \lambda^{-1} > 2$, the Karcher mean is a scalar multiple of the arithmetic mean:

$$\Lambda(A, B, C) = a \left[\frac{A + B + C}{3} \right], \quad a < 1.$$

It is then of interest to find an additional condition on (A, B, C) satisfying (6.22) under which (6.23) holds.

ACKNOWLEDGMENTS

The work of E. Ghiglioni was partially supported by Grants CONICET-PIP 152, PICT-2015-1505 and UNLP11X829. The work of Y. Lim was supported by the National Research Foundation of Korea (NRF) grant funded by the Korea government (MEST) No. 2015R1A3A2031159 and 2016R1A5A1008055.

REFERENCES

- [1] T. Ando, Concavity of certain maps on positive definite matrices and applications to Hadamard products, *Linear Algebra Appl.* **26** (1979), 203–241
- [2] T. Ando, C. K. Li and R. Mathias, Geometric means, *Linear Algebra Appl.* **385** (2004), 305–334.
- [3] R. Bhatia, *Matrix Analysis*, Springer-Verlag, New York, 1997.
- [4] R. Bhatia, *Positive Definite Matrices*, Princeton Series in Applied Mathematics, Princeton University Press, Princeton, NJ, 2007.
- [5] R. Bhatia and T. Jain, The geometric mean of exponentials of Pauli matrices, *Journal of Ramanujan Mathematical Society* **30** (2015), 199–204.
- [6] H. Choi, E. Ghiglioni, and Y. Lim, The Karcher mean of three variables and quadric surfaces, *J. Math. Anal. Appl.* **490** (2020), 124321.
- [7] G. Corach, H. Porta, and L. Recht, Convexity of the geodesic distance on spaces of positive operators, *Illinois J. Math.* **38** (1994), 87–94.
- [8] E. Ghiglioni, Y. Lim and M. Pálfi, The Karcher mean of linearly independent triples, *Linear Algebra Appl.* **610** (2021), 203–221.
- [9] , E. Ghiglioni and Y. Lim, Hyperbolicity of the Karcher mean, *Linear Algebra Appl.* **643** (2022), 196–217.
- [10] J. Holbrook, No dice: a deterministic approach to the Cartan centroid, *J. Ramanujan Math. Soc.* **27** (2012), 509–521.
- [11] S. Kim and H. Lee, The Hadamard product for the weighted Karcher means, *Linear Algebra Appl.* **385** (2016), 290–303.
- [12] J. D. Lawson and Y. Lim, Monotonic properties of the least squares mean, *Math. Ann.* **351** (2011), 267–279.
- [13] J. Lawson and Y. Lim, Karcher means and Karcher equations of positive operators, *Trans. Amer. Math. Soc. Series B* **1** (2014), 1–22.
- [14] J. Lawson and Y. Lim, Analyticity of the Karcher mean coefficient maps, *Linear Algebra Appl.* **627** (2021), 162–184
- [15] J. Lawson and Y. Lim, From hyperbolic geometry to 2×2 Hermitian matrices and back, to appear in *J. of Geometry*.
- [16] B. Lemmens and M. Roelands, Unique geodesics for Thompsons metric, *Ann. Inst. Fourier (Grenoble)* **65** (2015), 315–348.
- [17] B. Lemmens, M. Roelands and M. Wortel, Hilbert and Thompson isometries on cones in JB-algebras, *Math. Z.* **292** (2019), 1511–1547.
- [18] Y. Lim, Geometry of midpoint sets for Thompson’s metri, *Linear Algebra Appl.* **439** (2013), 211–227.
- [19] Y. Lim, Invariant tolerance relations on positive definite matrices, *Linear Algebra Appl.* **619** (2021), 1–11.

- [20] Y. Lim and M. Pálfi, The matrix power means and the Karcher mean, *J. Funct. Anal.* **262** (2012), 1498–1514.
- [21] R. D. Nussbaum, Hilbert’s projective metric and iterated nonlinear maps, *Memoirs of Amer. Math. Soc.* **391**, 1988.
- [22] R. D. Nussbaum, Finsler structures for the part metric and Hilbert’s projective metric and applications to ordinary differential equations, *Differential and Integral Equations* **7** (1994), 1649–1707.

CENTRO DE MATEMÁTICA, FCE-UNLP, LA PLATA, ARGENTINA AND INSTITUTO ARGENTINO DE MATEMÁTICA “ALBERTO P. CALDERÓN” (IAM-CONICET)

Email address: eghiglioni@mate.unlp.edu.ar

DEPARTMENT OF MATHEMATICS, SUNGKYUNKWAN UNIVERSITY, SUWON 440-746, KOREA

Email address: ylim@skku.edu